Best model for HELP J021626.277-044139.966 at z = 1.876 x2=3.76
OPTx2=4.6 IRy2=1.55 threshold (OPT IR)=23.01 [um]

102 3 . Stellar attenuated
E 1 it Stellar unattenuated

—— Dust emission

10! E —— AGN emission
E = Model spectrum
] ® Model fluxes
100 3 [ Observed fluxes
> 10-1
= 107" 3
€
X 1072 3
T ]
1073 3
1074 4

%05

= 1 3

© 1 == (Obs-Mod)/Obs

5 ]

S ]

b ]

o O-+-iw%rrp----—-——w————--1\r{Ai---——-———————=—=———=—==-

b ]

o ]

2 ]

© -1+ e CIGALE

(V]

o

10° 10! 102 103 10% 10° A
Observed wavelength [um]



